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I REH=

1 REMR
(1) BREHS (BALFRY)
FE
PN FHIT R 2 PN PN
5 5 SHAEE g;ﬁ *‘fﬁﬁ%f SHISEE | §H2FE
- (%) (%)
5 | K T 1,582.4 85.2 88.9 1,857.3 1,779.6
* 5| BT 0.0 - - - -
5 |EE R 20.6 105.6 84.7 195 24.3
W | B LK FE 68.7 94.5 1171 72.7 58.7
®| 5 ke i 0.0 33.8 33.9 0.0 0.0
it 1,671.6 85.7 89.8 1,949.5 1,862.5
£ y #H 7.0 82.5 132.0 8.5 5.3
1 x X 138.1 123.4 287.1 111.9 48.1
F it 143.6 121.1 2746 118.6 52.3
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3) FAMHADHIZLADHEIZ0.8FRL-RXKIBREDAH,
(2) HRARESHS (BG1:FhY)
Al |Sf4E SHAE SHMBFEE
9A30HI% |8A3IBRE| (A)—(B) [xt(%)
EE] (A) (B) (3B31BEE)
5 | K #d 1,582.4 217.6 1,364.7 35.5%
* % | BE T 0.0 - 0.0 _
5 |BE R 20.6 1.0 19.6 28.3%
w | B K FE 68.7 78 60.9 34.6%
®| 5 ke i 0.0 - 0.0 15.2%
it 1,671.6 226.4 1,445.2 35.4%
£l y H 7.0 1.8 5.2 9.4%
# x X 138.1 35.7 102.4 24 8%
F it 143.6 37.1 106.5 23.3%
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2) SOV FOBAGRTEHEARN—BLAEWNGELH D,
3) IOl [FEEICHELZEVWED., -] EBENLGEVELEDETRT,
4) FAHADFHIZLADHEIZ0.8FFL-LKIBEDAEH,
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F E (Fro)| 1 = 2 = 3 = G a5
1,582.4 75.7 21.6 2.0 0.7 0.1
4 F OB <217.6> <68.0> <27.6> B 0.7> -
1,857.3 82.6 15.3 1.4 0.7 -
s & E (4,454.7) (83.1) (14.2) (1.4) (1.3) -
1,779.6 80.7 17.0 1.7 0.6 -
2 & E (4.902.3) (798) (16.5) 2.0) (1.7) -
AFEE-S3FE(RKAUL) -7.0 6.3 0.7 0.0 0.1
AFE -_2FE(RA2H) -5.0 46 0.3 0.1 0.1
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2 BEMNRENE

(B k)

[} Al B |[KWILERXKX[(KWMELEXRXKX|BEERA XX |ETHESZERX|ERMILXRX
* & & 142,788 134,309 7,927 552 - -
HEEBE 241,047 222,396 14,296 4,355 - -
EF & 38,158 37,392 331 434 - -
5 F 14,064 9,544 4,344 175 - -
T W 45,552 44,868 460 223 - -
) H 69,852 65,550 3,448 854 - -
(1T 52,002 45,430 4,949 1,622 - -
B B 21,421 19,611 765 1,045 - -
BAREEBE 416,006 402,753 10,571 2,677 2 2
*x B 140,625 139,540 981 102 2 0
m K 73,440 73,151 34 253 - 2
B OB 819 801 0 18 - -
% E 15,205 15,149 33 23 - -
F oxE 144,821 135,609 9,064 148 - 0
B = - - - - - -
wmox= ) 389 377 0 12 - -
(1T 1,228 1,040 15 173 - -
E % 23,295 21,109 252 1,934 - -
& il 16,184 15,977 191 16 - -
LEEBE 495,584 453,322 32,006 10,256 - -
w8 306,047 270,864 28,984 6,199 - -
E W 80,146 76,236 1,615 2,295 - -
g 55,567 54,325 843 399 - -
B H 53,824 51,897 564 1,363 - -
HEBBE 75,607 74,319 720 568 - -
g B 7,726 6,945 519 262 - -
2l 16,830 16,634 85 111 - -
= =# 51,051 50,740 116 194 - -
RERE 86,951 86,004 120 828 - -
A 52,154 51,987 59 108 - -
mO& 10,838 10,747 1 89 - -
X B 491 491 0 - - -
E & 20,375 19,741 52 583 - -
= B 1,215 1,173 6 36 - -
M W 1,878 1,864 3 11 - -
FEMDEERE 129,475 125,840 2,316 1,319 - -
E W 8,557 8,256 252 49 - -
B KR 19,804 18,608 748 449 - -
@ W 13,168 12,554 614 - - -
5 B 24,452 23,243 567 642 - -
o 14,542 14,497 31 14 - -
m B 21,169 21,157 13 - - -
g N 2,966 2,966 1 - - -
2 & 8,708 8,699 9 - - -
= A 16,108 15,862 82 165 - -
NI BB 83,018 82,277 734 7 - -
B & 22,580 22,579 1 - - -
&t = 7,131 7,100 32 - - -
E & 2,062 2,062 - - - -
B K 13,890 13,214 673 3 - -
X & 4,866 4,863 - 3 - -
= 1A 21,096 21,095 0 1 - -
B R B 11,393 11,364 28 - - -
bad ## 1,151 1,150 1 - - —
& Bt 1,671,627 1,582,370 68,692 20,560 2 2
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2 BENREHNE EFIMALARVERAZRK)
(BB b))

g2 Al ARt | AHBAXRX

It & = - 5,474
RILBREE 1,209 14,772
' &K 986 1,241

5 F - 490

T OW 18 2,516

M = 67 1,506

(1T 7 137 4,370

B B - 4,650
BRERE 2,893 83,643
*xOW 641 26,177

LT N - 1,812

B OE - 79

% E - 1,997

F £ 1,986 53,306

B = - -

= - -
(1T - -

E % - 9

B M 266 263

ALbE R B 128 19,000
R 55 14,405

E W 30 633

a n 43 2,360

B H# - 1,602
REBEEHE 540 5,487
i B 158 1,150

2 A 156 1,051

= B 226 3,286
AREBE 127 1,184
# = 24 934
"W 35 15

X & - -
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FEMESE 54 6,517
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L B - 79
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F 12 27
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= A 6 3,533
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3 FRABREHRE
(1) KIESIDE K

(BAr:b, %)

w5 & 2 B & % W b=
#Et 1 % 2 % 3 % |B%sl 1% | 2% | 3% [HEus
i & & 134,309 125,672 3,784 423 4,429 93.6 2.8 0.3 33
BEEBR 222,396 210,626 10,842 627 301 947 49 0.3 0.1
' & 37,392 34,482 2,672 220 18 92.2 7.1 0.6 0.0
5 F 9,544 9,242 295 7 - 96.8 3.1 0.1 -
T W 44,868 43,710 1,095 23 41 97.4 24 0.1 0.1
¥ = 65,550 60,695 4,359 266 229 92.6 6.6 0.4 0.3
W 45,430 43,806 1,537 78 9 96.4 34 0.2 0.0
E B 19,611 18,691 884 33 4 95.3 45 0.2 0.0
BEREKE 402,643 322,930 73,183 5,901 629 80.2 18.2 15 0.2
x W 139,430 94,311 42,245 2,747 127 67.6 30.3 2.0 0.1
WK 73,151 68,965 3,993 142 50 94.3 55 0.2 0.1
# B 801 554 229 18 - 69.1 28.6 2.3 -
% E 15,149 5,732 7,167 1,991 259 3738 473 13.1 1.7
F OE 135,609 117,752 17,007 706 144 86.8 12.5 0.5 0.1
" = -
w & 377 229 146 2 0 60.8 38.6 05 0.1
(1T 1,040 954 86 1 - 91.7 8.2 0.1 -
E B 21,109 20,781 307 19 2 98.4 15 0.1 0.0
B M 15,977 13,651 2,004 275 47 85.4 12.5 1.7 0.3
TERBE 453,316 357,510 89,760 3,865 2,181 78.9 19.8 0.9 0.5
I 270,858 201,475 66,808 2,063 513 74.4 247 0.8 0.2
E W 76,236 65,334 10,297 536 68 85.7 13.5 0.7 0.1
a 54,325 44,268 9,215 714 127 815 17.0 1.3 0.2
' H 51,897 46,432 3,440 552 1,473 89.5 6.6 1.1 2.8
RAERBE 74,319 28,446 42,433 3,189 252 38.3 57.1 43 0.3
g B2 6,945 3,323 3,237 229 155 479 46.6 3.3 2.2
2 Al 16,634 4,821 10,320 1,466 27 29.0 62.0 8.8 0.2
= & 50,740 20,302| 28,875 1,494 70 40.0 56.9 2.9 0.1
big3: .0 86,004 49337 32,979 3,349 339 57.4 38.3 39 0.4
# B 51,987 33,884| 16,745 1177 181 65.2 32.2 2.3 0.3
W AR 10,747 7,436 2,795 450 66 69.2 26.0 4.2 0.6
X KR 491 127 246 109 8 26.0 50.1 22.3 1.7
kE & 19,741 6,614 11,729 1,339 59 335 59.4 6.8 0.3
= B 1,173 1,008 145 16 4 85.9 12.4 1.4 0.3
M I W 1,864 268 1,318 257 21 14.4 70.7 13.8 1.1
FEEEERE 125,840 72,547| 45,629 6,599 1,065 57.7 36.3 5.2 0.8
5 I 8,256 4,081 3,866 295 13 49.4 46.8 3.6 0.2
E & 18,608 11,244 5,984 1,308 71 60.4 32.2 7.0 0.4
B 12,554 9,207 3,025 266 56 733 24.1 2.1 0.4
L B 23,243 20,373 2,645 192 33 87.7 1.4 0.8 0.1
w o 14,497 11,036 3,161 233 66 76.1 218 16 0.5
m B 21,157 9,712 9,700 1,479 266 459 458 7.0 13
& N 2,966 282 2,441 242 1 95 82.3 8.2 0.0
T I 8,699 4,070 4,071 455 102 468 468 5.2 1.2
= 15,862 2,542 10,736 2,127 456 16.0 67.7 134 2.9
RMEBRE 82,277 29,501| 43,412 7,846 1,517 35.9 52.8 9.5 1.8
B M 22579 1,866] 18,382 2,009 322 8.3 81.4 8.9 14
5 =B 7,100 4,329 2,497 119 155 61.0 35.2 1.7 2.2
E I 2,062 826 1,094 130 13 400 53.0 6.3 0.6
BE K 13,214 3,934 6,762 2,121 397 298 51.2 16.0 3.0
X & 4,863 2,634 1,864 315 50 542 38.3 6.5 10
=g 21,095 12,739 5,922 2,068 367 60.4 28.1 9.8 1.7
BE R B 11,364 3,173 6,892 1,085 214 279 60.6 9.5 19
b 1,150 501 438 165 47 43.6 38.1 14.3 4.0
& Bt 1,582,254| 1,197,070 342,460| 31,964 10,760 75.7 21.6 2.0 0.7
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_(2) KIEEBEHXK _ (BT %)
2 g & = # = £ #® t =
#® E 1% 2 % 3 % [BEal 1% | 2% | 3% |HEs
I &\ & 7,927 7,665 74 6 183 96.7 0.9 0.1 23
REEBB 14,296 9,071 4934 269 23 63.4 345 19 02
' & 331 16 309 6 - 49 93.2 1.9 -
a5 F 4,344 4,038 298 6 3 92.9 6.9 0.1 0.1
E W 460 94 335 31 - 20.4 72.9 6.7 -
M = 3,448 309 3,023 98 17 9.0 87.7 29 05
(T 4,949 3917 905 125 3 79.1 18.3 2.5 0.1
E B 765 698 64 3 - 91.3 8.4 0.3 -
BEREKR 10,571 8,629 1,780 144 18 81.6 16.8 14 0.2
* W 981 795 159 23 4 81.1 16.2 2.3 0.4
TP N 34 26 7 0 0 779 205 1.1 05
B E 0 - - 0 - - - 100.0 -
B E 33 5 25 2 1 16.3 75.9 5.8 2.0
F ¥ 9,064 7,404 1,539 110 11 81.7 17.0 1.2 0.1
B = -
w &N 0 - - 0 - - - 100.0 -
(T} 15 12 3 - - 78.1 21.9 - -
E % 252 233 15 4 - 92.4 5.9 16 -
B [ 191 153 31 5 2 80.1 16.3 2.6 1.1
LERBRE 32,006 18,746 12,166 985 109 58.6 38.0 3.1 03
OB 28,984 16,252 11,740 898 95 56.1 40.5 3.1 0.3
E W 1,615 1,392 206 17 - 86.2 12.7 1.0 -
a n 843 599 187 46 11 71.1 22.2 5.4 1.3
B H 564 502 34 25 3 89.0 6.1 44 05
BB 720 370 304 40 6 51.4 42.2 55 0.9
B B 519 343 155 16 5 66.1 29.8 3.1 1.1
2 A 85 14 63 8 - 16.2 745 9.4 -
= B 116 13 86 16 1 11.3 74.3 13.6 0.9
big_ 3. ¥4 120 9 76 35 1 72 62.9 29.1 08
OB 59 3 45 10 - 5.2 77.3 17.5 -
" OB 1 - 1 0 0 - 39.5 37.2 23.3
X R 0 - 0 0 - - 714 28.6 -
E E 52 6 25 21 0 10.8 48.3 40.5 05
= B 6 - 5 1 0 - 75.8 23.2 1.0
M oW 3 - 0 2 0 - 8.0 77.0 14.9
FENEERE 2,316 836 1,267 204 9 36.1 54.7 838 0.4
B 252 174 77 1 - 69.1 30.3 05 -
5 R 748 430 276 40 0 57.6 37.0 5.4 0.0
@ W 614 6 536 66 6 1.0 87.3 10.7 0.9
L B 567 217 266 82 1 384 47.0 14.5 0.1
w A 31 6 25 0 0 19.0 79.8 0.9 0.3
OB 13 1 10 2 0 5.6 74.2 17.3 2.8
F 1 - 1 0 - - 67.9 32.1 -
Z IE 9 - 8 2 - - 79.7 20.3 -
= 82 1 69 10 2 0.7 84.7 11.7 2.9
R EBRE 734 3 590 138 3 0.4 80.4 18.8 0.4
B M 1 - - 1 - - - 100.0 -
T® =B 32 0 29 1 1 15 91.0 3.7 38
E & -
B K 673 2 543 128 0 0.3 80.7 19.0 0.0
X % -
BB 0 - - 0 - - -| 1000 -
BERS 28 - 19 8 2 - 65.2 29.0 5.8
i 1 - - - 1 - - -| 1000
& &t 68,692 45327 21,191 1,821 353 66.0 308 27 05
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(3) EEERZX _ (B b %)
2 g [ = ] = £ & t =
BRE gt | HvE(1% |2 % F | BEEalE i E1 %2 F3 FH(mssn
i & & 552 - - 546 - - 5 - - 99.0 - - 10
REEBR 4,355 - 347/ 3,614 345 46 4 -| 80| 830/ 79/ 10| o1
' &K 434 - 98 320 17 - - -| 225 736] 3.9 - -
5 F 175 - - 172 3 - - - -| 983 1.7 - -
7 W 223 - - 92 122 10 - - -| 41.1| 546| 43 -
M H 854 - 15 829 9 1 0 - 18] 970 11| 01| 00
(T 1,622 - 230 1,241 113 35 3 -| 142 765 70| 22| 02
E B 1,045 - 4 960 81 - - -| 04| 919] 77 - -
BAREKE 2,677 - 14| 2,491 111 46 15 -| 05| 930| 41| 17[ 06
* W 102 - - 96 5 - - - -| 9471 53 - -
TP N 253 - 14 196 28 - 15 -| 55 775] 11.1 -| 59
BB 18 - - 6 3 8 - - -| 359| 18.7| 454 -
% E 23 - - 19 1 3 - - -| 828 49| 122 -
F OE 148 - - 125 17 6 - - -| 845 118| 38 -
B = -
w &N 12 - - 1 11 - - - -| 102 8938 - -
(T} 173 - - 173 - - - - -| 100.0 - - -
E % 1,934 - -| 1874 44 16 - - -| 969 23| 08 -
% @ 16 - - - 1 14 - - - - 90[ 910 -
TERBE 10,256 - 125/ 8,882| 1,189 28 31 -| 12| 866| 116/ 03] 03
OB 6,199 - 58 5010 1,077 24 30 -| 09| 808| 174 04| 05
E W 2,295 - 2| 2,284 7 3 - - 01| 995 03| 0.1 -
a n 399 - - 351 47 1 - - -| 88.1| 11.7] 02 -
B H 1,363 - 66 1,237 59 0 1 -| 48| 907 43| o0 o1
RAERBRE 568 - 98 370 95 5 0 -| 17.2| 65.2| 16.7] 08| 00
g B 262 - 92 110 56 5 0 -[ 350 419| 212 18] o1
Z 111 - - 107 4 - - - -| 965| 35 - -
= B 194 - 6 153 35 - - -| 31| 788| 18.1 - -
big3: 1.0 828 - - 388 390 49 0 - -| 469| 47.1| 59| o.1
OB 108 - - 35 73 - - - -| 322 678 - -
" OB 89 - - 65 19 6 - - -| 722 207] 7.1 -
X B -
E E 583 - - 269 287 27 0 - -| 461 49.2| 46| 0.1
= R 36 - - 20 4 12 - - -| 550 10.3| 347 -
M & W 11 - - - 8 4 - - - -| 67.7] 323 -
FERNEERE 1,319 - 606 382 253 70 8 -| 459| 29.0| 192| 53| 06
B 49 - 7 28 9 5 - -| 140| 57.3| 18.1| 106 -
E B 449 - 8 287 135 19 - -| 17| 638| 30.1| 43 -
@ W -
L B 642 - 591 37 7 - 7 - 921 s8] 1.1 -l 10
W A 14 - - 11 3 - - - -| 805] 195 - -
"B -
F N -
B 1B -
= 165 - - 19 100 45 1 - -| 11.7| 60.4| 273 05
R EBE 7 - - 3 3 1 - - -| 43.6] 44.0| 124 -
= M -
B = -
E & -
B X 3 - - - 3 - - - - -| 100.0 - -
X » 3 - - 3 - - - - -| 100.0 - - -
= G 1 - - - - 1 - - - - -| 100.0 -
BE R B -
;‘q: -
& &t 20,560 -| 1,190| 16,676 2,387 244 64 -| 58| 81.1] 116 12| 03
E: 1) SO FRDBERCHENRA—BLAENBEAHY £ .
2) ToJ FEMEICHEEZBEVWED. T-] FEENETVLOZERLTVET,
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(4) gAHALHEUEMARK (BAr:b, %)

2 g B E R B (bt &) [Zhits )| [R E B B (X K ) [SHEE (KK

%At | & % | REs] &8 [REs % & & % [BEHN] & % [BEHN

* B & - - - - - 5474 5474 -|  100.0 -

L e 30 1,209 1,209 -] 1000 - 14,772| 14,772 -| 1000 -

7 & 986 986 -| 1000 - 1,241 1,241 -| 1000 -

5 F - - - - - 490 490 -| 1000 -

B W 18 18 -| 1000 - 2516 2516 -| 1000 -

M H 67 67 -| 1000 - 1,506 1,506 -| 1000 -

W iz 137 137 -| 1000 - 4,370 4,370 -| 1000 -

g2 5 - - - - - 4,650 4,650 -| 1000 -

REEBE 2,803 2,803 -] 100.0 - 83,643| 83,637 6] 100.0 0.0

x W 641 641 -| 1000 - 26,177 26,177 -| 1000 -

wm K - - - - - 1,812 1,812 -| 1000 -

B R - - - - - 79 79 -| 1000 -

b - - - - - 1,997 1,997 -| 1000 -

F E 1,986 1,986 -| 1000 - 53,306 53,300 6| 1000 0.0

R = - - - - - - - - - -

| - - - - - - - - - -

TI-S - - - - - - - - - -

kB - - - - - 9 9 -| 1000 -

B4 266 266 -| 1000 - 263 263 -| 1000 -

TEEKE 128 128 -| 1000 - 19,000 18,999 o] 1000 0.0

S 55 55 -| 1000 - 14,405 14,405 -| 1000 -

2 W 30 30 -| 1000 - 633 633 -| 1000 -

Il 43 43 -| 1000 - 2,360 2,360 o] 1000 0.0

B ¥ - - - - - 1,602 1,602 -| 1000 -

RBRBE 540 540 -] 100.0 - 5,487 5,487 -| 1000 -

Bk B 158 158 -| 1000 - 1,150 1,150 -| 1000 -

E A 156 156 -| 1000 - 1,051 1,051 -| 1000 -

= B 226 226 -| 1000 - 3,286 3,286 -| 1000 -

ERRBE 127 127 -] 100.0 - 1,184 1,184 -| 1000 -

# =5 24 24 -| 1000 - 934 934 -| 1000 -

R O# 35 35 -| 1000 - 15 15 -| 1000 -

X & - - - - - - - - - -

£ E 68 68 -| 1000 - 17 17 -| 1000 -

= R - - - - - 64 64 -| 1000 -

% - - - - - - - - - -

TEEERBE 54 54 -] 100.0 - 6,517 6,517 ol 100.0 0.0

5 m - - - - - 76 76 -| 1000 -

5 MR - - - - - - - - - -

@ W - - - - - 366 366 -| 1000 -

L & - - - - - 79 79 -| 1000 -

woA - - - - - 204 204 -| 1000 -

® 5 - - - - - 2,166 2,166 -| 1000 -

g N 12 12 -| 1000 - 27 27 -| 1000 -

B R 36 36 -| 1000 - 66 66 -| 1000 -

= AN 6 6 -| 1000 - 3,533 3,533 0] 1000 0.0

AMRBE 2,024 2,024 -] 100.0 - 1,983 1,983 -] 100.0 -

& fE - - - - - 19 19 -| 1000 -

H = - - - - - - - - - -

£ & - - - - - 24 24 -| 1000 -

g K 38 38 -| 1000 - 488 488 -| 1000 -

X % 265 265 -| 1000 - 28 28 -| 1000 -

BB 847 847 -| 1000 - 310 310 -| 1000 -

ERS 874 874 -| 1000 - 1,114 1,114 -| 1000 -

i - - - - - - - - - -

& & 6,974 6,974 -| 1000 - 138,060| 138,053 71 1000 0.0

E: 1) 570 FOBRCHERRA—BLENGEABHY F3 .,

2) To) FEfICHEEZZVED. -] BERALBGVIDERLTVET,
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4 BWRBBRENE

(1) KFES55b% %K
(BB b, %)
o = 5 % ke &=
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